
Aire et Volume d’un Tronc de Cône (G)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
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r1 = 52,8mm

h = 86,4mm

r2 = 30,4mm1.

r1 = 108,8 dm

h = 188,8 dm

r2 = 51,2 dm2.

r1 = 78,0mm

h = 180,0mm

r2 = 21,0mm3.

r1 = 65,0 ft

h = 100,0 ft

r2 = 15,0 ft4.
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Aire et Volume d’un Tronc de Cône (G) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 52,8mm

h = 86,4mm

r2 = 30,4mm1.

Aire: 34.991,5mm2

Volume: 481.081,7mm3

r1 = 108,8 dm

h = 188,8 dm

r2 = 51,2 dm2.

Aire: 144.643,4 dm2

Volume: 3.960.038,6 dm3

r1 = 78,0mm

h = 180,0mm

r2 = 21,0mm3.

Aire: 79.222,0mm2

Volume: 1.538.689,2mm3

r1 = 65,0 ft

h = 100,0 ft

r2 = 15,0 ft4.

Aire: 42.079,3 ft2

Volume: 568.104,7 ft3
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